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A certain number of persons are sitting in the row. All of them are facing towards 

north. I sits seventh from the left of V. C sits to the left of A. Only three persons 

sit between G and A. L sits fourth to the right of K. I sits one of the place between 

E and K. A sits fourth to the left of I. K is seventh from the right end of the row. 

Nine persons sit between G and K. There are nine places between C and E. A is 

eight from the left end. G and I is not neighbor. 

एक निनित संख्या में व्यनि पंनि में बैठे हैं। ये सभी उत्तर की ओर म ंह नकए हुए हैं। I, V के बाए ंसे

सातवें स्थाि पर बैठा ह ं। C,A के बाई ंओर है। केवल तीि व्यनि G और Aके बीच में बैठे हैं। L, K 

के दाई ंओर चौथा बैठता है। I, E और K के बीच में कहीं एक स्थाि पर एक बैठता है। A,I के बाई ं

ओर चौथे है। पंनि के दाए ंछोर से K सातवााँ है। िौ व्यनि G और K के बीच में बैठते हैं। िौ व्यनि

C और E के बीच में बैठते हैं । पंनि के बाए ंछोर से A आठवााँ है। Gऔर I पडोसी िहीं हैं।
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A certain number of persons are sitting in the row. All of them are facing towards 

north. I sits seventh from the left of V. C sits to the left of A. Only three persons sit 

between G and A. L sits fourth to the right of K. I sits one of the place between E 

and K. A sits fourth to the left of I. K is seventh from the right end of the row. Nine 

persons sit between G and K. There are nine places between C and E. A is eight 

from the left end. G and I is not neighbor.
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A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R O G @ 2 I B 2 U &

Which of the following element is sixth to the left of the fourteenth from the 

left end of the given arrangement? 

निम्िनिनित में से कौि सा तत्व दी गई व्यवस्था में बाए ंछोर  से ौौदववें के बाए ंसे छाा व ?

(a) 6 (b) % (c) $ (d) M (e) None of these
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A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R O G @ 2 I B 2 U &

If all the symbols are dropped from the series, which element will be twelfth 

from the right end? 

यनद श्रिंिा से सभी प्रतीकों को वटा नदया जाए, तो कौि सा तत्व दायें छोर  से बार ववां वोगा?

(a) 9 (b) Q (c) R (d) Y (e) None of these 
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A @ 3 4 % 7 N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R O G @ 2 I B 2 U &

How many such numbers are there in the given series which are immediately 

preceded by a symbol and followed by a letter?

दी गई श्िंिा में ऐसी नकतिी संख्याए ंवैं नजिके ाीक पविे एक नौन्व और  ाीक पविे एक 

अक्षर  व ?

(a) None (b) One (c) Two (d) Three (e) Four
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A @ 3 4 % E N M $ 8 6 L & D S # 9 8 6 Q Y Z 1 7 R % O G @ 2 I B 2 U &

How many such letters are there in the given series which are immediately 

preceded by number and immediately followed by a symbol? 

दी गई श्िंिा में ऐसे नकतिे अक्षर  वैं नजिके ाीक पविे एक संख्या और  ाीक बाद एक प्रतीक 

व ?

(a) One (b) Two (c) Three (d) More than three (e) None of 

these
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A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R O G @ 2 I B 2 U &

Find the odd one out? / नवषम ौिुें?

(a) N64 (b) D86 (c) Y%8 (d) R21 (e) 8EL
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In the word ‘PRODUCE’, how many pairs of the letters have the 

same number of letters between them in the given word as they have 

in the English alphabet series? 

शब्द 'PRODUCE' में, अक्षर ों के नकतिे यगु्मों के बीौ नदए गए शब्द में अक्षर ों की 

संख्या उतिी वी व  नजतिी अंग्रेजी वर्णमािा श्रिंिा में व ? 

(a) Four (b) Two (c) One (d) Three (e) More than four
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Statements: 

A ≥ B ≥ C = D > E ≤ F < G 

Conclusions: 

I. E < B 

II. G > E 
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Statements: 

P ≤ R < T = U ; Q ≥ T ≤ S ≥ V 

Conclusions: 

I. Q > P

II. V < R
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Statements: 

L > M ≤M ≥ S ≥ T 

Conclusions: 

I. T ≤W 

II. W < T
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In a certain code a number MASTER is written as 5125 . How is 

FATHER written in that code ?

एक निनित कोड में एक सखं्या MASTER को 5125 के रूप में नलखा जाता है। उस 

कोड में FATHER को कैसे नलखा जाता है?

(A) 7105

(B) 310

(C) 4815

(D) 9911

(E) 5930
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In a certain code a number RUN is written as 672 . How is TOY written 

in that code ?

एक निनित कोड में एक सखं्या RUN को 672 के रूप में नलखा जाता है। उस कोड में 

TOY को कैसे नलखा जाता है?

(A) 361

(B) 675

(C) 441

(D) 900

(E) 1000
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Statements: 

Some Ball are Garden. 

All Garden are Trade. 

Only a few Trade are Pump. 

Conclusions: 

I. Some Ball are Pump. 

II. Some Garden can be Pump.

कथि: 

कुछ बॉि गार्णि वैं. 

सभी गार्णि टे्रर् वैं. 

केवि कुछ टे्रर् पम्प वैं। 

निष्कषण: 

I. कुछ बॉि पंप वैं। 

II. कुछ गार्णि पंप वो सकते वैं.
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Statements: 

Some Ball are Garden. 

All Garden are Trade. 

Only a few Trade are Pump. 

Conclusions: 

I. Some Ball are Pump. 

II. Some Garden can be Pump.
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Statements: 

No Market is Home. 

Only a few Home are Room. 

Only a few Room is Vance. 

Conclusions: 

I. Some Home are Vance. 

II. Some Market can never be 

Room. 

कथि: 

कोई बाजार  घर  िवीं व । 

केवि कुछ वोम रूम वैं। 

केवि कुछ रूम वेंस वैं। 

निष्कषण: 

I. कुछ वोम वंस वैं। 

II. कुछ माकेट कभी रूम िवीं वो 

सकते वैं।
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Statements: 

No Market is Home. 

Only a few Home are Room. 

Only a few Room is Vance. 

Conclusions: 

I. Some Home are Vance. 

II. Some Market can never be 

Room. 
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Statements: 

No Party is Gathering. 

All Summary are Gathering. 

Only a few Gathering are 

Committee. 

Conclusions: 

I. Some Committee can be 

Summary. 

II. Some Party can be Committee. 

कथि: 

कोई पाटी िवीं वो र वी व । 

सभी समर ी ग दररं ग वैं। 

केवि कुछ ग दररं ग कनमटी वैं। 

निष्कषण: 

I. कुछ सनमनत सार ांश वो सकता व । 

II. कुछ पाटी कनमटी वो सकती वैं।
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Statements: 

No Party is Gathering. 

All Summary are Gathering. 

Only a few Gathering are 

Committee. 

Conclusions: 

I. Some Committee can be 

Summary. 

II. Some Party can be Committee. 



IBPS / BANK / LIC / SBI at 9:00 AM

Statements: 

All Chocolate are Toffee. 

No Toffee is Muffin. 

Only a few Muffin are Dark. 

Conclusions: 

I. No Chocolate is Muffin. 

II. Some Toffee can never be Dark. 

कथि: 

सभी ौॉकिेट टॉफी वैं। 

कोई टॉफी मनफि िवीं व । 

केवि कुछ मनफि र्ाकण  वैं। 

निष्कषण: 

I. कोई ौॉकिेट मनफि िवीं व । 

II. कुछ टॉफी कभी र्ाकण िवीं वो 

सकती वैं।
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Statements: 

All Chocolate are Toffee. 

No Toffee is Muffin. 

Only a few Muffin are Dark. 

Conclusions: 

I. No Chocolate is Muffin. 

II. Some Toffee can never be Dark. 
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Eight persons are sitting around a circular table facing to the center but not 

necessarily in the same order. Two persons sit between Q and P. R sits 

immediate to the right of Q. One person sits between R and S, who faces to 

T. Q and T are not immediate neighbors of each other. W sits 2nd to the left 

of V. Three persons sit between U and V.

आा व्यनि एक वरत्ताकार  मजे के ौार ों ओर  कें द्र की ओर  मिु कर के ब ाे वैं, िेनकि जरूर ी िवीं

नक इसी क्रम में वों। Q और  P के मध्य दो व्यनि ब ाे वैं । R, Q के ाीक दायें ब ाा व । R और  S 

के बीौ एक व्यनि ब ाा व , नजसका मिु T की ओर  व । Q और  T एक दसूरे  के निकटतम 

पर्ोसी िवीं वैं। W, V के बायें से दसूरे  स्थाि पर  ब ाा व । U और  V के बीौ तीि व्यनि ब ाे वैं।
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Eight persons are sitting around a 

circular table facing to the center 

but not necessarily in the same 

order. Two persons sit between 

Q and P. R sits immediate to the 

right of Q. One person sits 

between R and S, who faces to T. 

Q and T are not immediate 

neighbors of each other. W sits 

2nd to the left of V. Three 

persons sit between U and V.
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There are eight persons A, B, C, D, E, F, G and H living on an eight-floor building 

(Ground floor is numbered 1 and topmost floor is number 8.) but not necessary in the 

same order. F lives on floor number 4. G lives on an odd number floor below 6th floor. D 

lives on one of the odd number floors but not below G’s floor. There is one person living 

between C and A who lives just above E. B lives on the floor immediate above H. C lives 

on a floor above A. Not more than two persons live between A and G. 

आा व्यनि A, B, C, D, E, F, G और  H आा मंनजिा इमार त में र वते वैं (सबसे निौिी मंनजि संख्या 1 व  

और  सबसे ऊपर ी मंनजि की संख्या 8 व ।) िेनकि आवश्यक िवीं की सभी समाि क्रम में वो। F, मंनजि संख्या 4

पर  र वता व । G, 6 मंनजि से िीौे नवषम संख्या वािी मंनजि पर  र वता व । D नवषम संख्या वािी मंनजि पर  र वता 

व , िेनकि G की मंनजि से िीौे िवीं र वता व । C और  A के बीौ एक व्यनि र वता व  जो E के ाीक ऊपर  र वता 

व । B, H के ाीक ऊपर  वािी मंनजि पर  र वता व । C, A के ऊपर  वािी मंनजि पर  र वता व । A और  G के बीौ 

दो से अनिक व्यनि िवीं र वते वैं।
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There are eight persons A, B, C, D, E, F, G 

and H living on an eight-floor building 

(Ground floor is numbered 1 and topmost 

floor is number 8.) but not necessary in the 

same order. F lives on floor number 4. G 

lives on an odd number floor below 6th 

floor. D lives on one of the odd number 

floors but not below G’s floor. There is one 

person living between C and A who lives 

just above E. B lives on the floor 

immediate above H. C lives on a floor 

above A. Not more than two persons live 

between A and G. 
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There are eight boxes J, K, L, M, N, O, P and Q are placed one above 

another. Two boxes are placed between Box K and Box N. Box Q is placed 

immediately below Box N. One box is placed between Box P and Box L. 

Box M is placed one of the above place of N and one of the below place of 

Box O but not immediate above or below. Box J and Box O is not placed 

above Box P. One box between N and M. Two box between O and M.   

आा बॉक्स अथाणत J, K, L, M, N, O, P और  Q एक के ऊपर  एक र िे वैं। बॉक्स K और  

बॉक्स N के बीौ दो बॉक्स र िे वैं। बॉक्स Q, बॉक्स N के ाीक िीौ ेर िा व । बॉक्स P और  

बॉक्स L के बीौ एक बॉक्स र िा व । बॉक्स M को N के एक स्थाि ऊपर  र िा जाता व  और  

बॉक्स O के एक स्थाि िीौ ेर िा व  िेनकि ाीक ऊपर  या िीौ ेिवीं र िा व । बॉक्स J और  

बॉक्स O, बॉक्स P के ऊपर  िवीं र िा गया व । N और  M के बीौ एक नर्ब्बा व  । O और  M 

के बीौ दो नर्ब्बे व  ।
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There are eight boxes J, K, L, M, N, O, 

P and Q are placed one above another. 

Two boxes are placed between Box K 

and Box N. Box Q is placed 

immediately below Box N. One box is 

placed between Box P and Box L. Box 

M is placed one of the above place of 

N and one of the below place of Box O 

but not immediate above or below. 

Box J and Box O is not placed above 

Box P. One box between N and M. 

Two box between O and M.   
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Six persons P, Q, R, S, T and U are living at seven storey building. Each of them like different Cars i.e

Maruti, Honda, Kia, BMW, Toyota and Volvo. All information is not necessarily in same order. One 

floor is vacant P live at 6th floor. One floor is between P and the one who likes Kia. Two persons live 

between the person who likes Honda and the one who likes Maruti. The person who likes Honda lives 

above the one who likes Maruti. Q likes Bmw and lives at bottom floor. R lives immediate below P’s 

floor and does not like Honda. Two person live between U and T. One person lives between T and the 

one who likes Toyota. Vacant floor is one of the above floor of the person who likes Maruti.  

छव व्यनि P, Q, R, S, T और  U, एक सात मंनजिा इमार त में र वते वैं। उिमें से प्रत्येक को अिग-अिग कार  अथाणत ्मारुनत, 

वोंर्ा, नकआ, बीएमर्ब््य,ू टोयोटा और  वो्वो पसंद वैं। परू्ण जािकार ी जरुर ी िवीं की समाि क्रम में वो। एक मंनजि िािी व । P, 

छाी मंनजि पर  र वता व । P और  नकआ पसंद कर िे वािे व्यनि के मध्य एक मंनजि व । वोंर्ा पसंद कर िे वािे व्यनि और  मारुनत 

पसंद कर िे वािे व्यनि के मध्य दो व्यनि र वते वैं। वोंर्ा पसंद कर िे वािा व्यनि, मारुनत पसंद कर िे वािे व्यनि के ऊपर  र वता व । 

Q बीएमर्ब्ि ूपसंद कर ता व  और  वव निौिी मंनजि पर  र वता व । R, P की मंनजि के ाीक िीौे र वता व  और  वौंर्ा पसंद िवीं 

कर ता व । U और  T के बीौ दो व्यनि र वते वैं। T और  टोयटा पसंद कर िे वािे व्यनि के मध्य एक व्यनि र वता व । िािी मंनजि 

उस व्यनि की ऊपर  वािी मंनजि व  जो मारुनत पसंद कर ता व ।
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Six persons P, Q, R, S, T and U are living at 

seven storey building. Each of them like different 

Cars i.e Maruti, Honda, Kia, BMW, Toyota and 

Volvo. All information is not necessarily in same 

order. One floor is vacant P live at 6th floor. One 

floor is between P and the one who likes Kia. 

Two persons live between the person who likes 

Honda and the one who likes Maruti. The person 

who likes Honda lives above the one who likes 

Maruti. Q likes Bmw and lives at bottom floor. R 

lives immediate below P’s floor and does not like 

Honda. Two person live between U and T. One 

person lives between T and the one who likes 

Toyota. Vacant floor is one of the above floor of 

the person who likes Maruti.  
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A certain number of persons are sitting in the row. All of them are facing 

towards north. Q sits sixth from the right of S. T sits forth to left of Q. Only 

two persons sit between Q and P. R sits forth to the left of S. U sits between 

S and T. V sits second to the right of U. W is third from any of the end. S is 

eight from the left end of the row. Six persons sit between W and V.

एक निनित संख्या में व्यनि पंनि में ब ाे वैं। उि सभी का मिु उत्तर  की ओर  व । Q, S के दायें

से छाे स्थाि पर  ब ाता व । T, Q के बायें से आगे ब ाता व । Q और  P के बीौ केवि दो व्यनि 

ब ाते वैं। R, S के बायीं ओर  ब ाता व । U, S और  T के बीौ ब ाता व । V, U के दायें से दसूरे  

स्थाि पर  ब ाता व । W नकसी भी छोर  से तीसरे  स्थाि पर  व । S पंनि के बाए ंछोर  से आावां व । 

W और  V के मध्य छव व्यनि ब ाे वैं।
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A certain number of persons are sitting in the row. All of them are facing 

towards north. Q sits sixth from the right of S. T sits forth to left of Q. Only 

two persons sit between Q and P. R sits forth to the left of S. U sits between 

S and T. V sits second to the right of U. W is third from any of the end. S is 

eight from the left end of the row. Six persons sit between W and V.
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